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Problem 3 Official Rubric
10 points
Student would have to understand the time it takes for an object to land on the incline is only a function of
how high it goes normal to the incline (tilting the the picture such that the incline is now the horizontal). W.r.t
the incline projectile B has a smaller height compared to A, so B would hit the ground first.

7 points
Hang time is based on the max height of the projectile but since B lands on an incline. B would land first.

5 points
Assumed same initial velocity however had the understanding that flight time was based on smaller angle
w.r.t. to the incline plane.

3 points
Time of flight a function of theta and also assumed the initial velocities were equal

2 points
Time of flight is a function of theta and also assumed the initial velocities were equal.

0 points
Time of flight is a function of theta. (only possible if initial velocities are equal)
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Suppose m1 and my slide together. Then we have:
a(my +mg) =T

ams =msg — T
a(m1 +m2 +m3) = msg
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a=qQ— = —
gm1+m2+m3 99

The friction force required to accelerate mo must not exceed the maximum force
the static friction can provide.
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The above is false, so m; and my move independently from each other.
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